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Question 1

6HMIgo »3eob LobEGgIob Rsbsfgdl Tgodergds Homdmoygbwgl Gogbgo 7D
Select one:

a. m9943Lbdg@mdom»o

b. 5639600 56 560l Lfmeo

C. ®35M30mM0

d. mH™mdomo

e. SMdOMO

Question 2

6Md9go »3wolb BobEGgdob Bsbsfgdl dgodwgds Homdmoygbwogl Gogbgzo 91
Select one or more:

a. mOMOOMO

b. 09943bdgBmdomo

C. 63503000

d. 50mdomo

€. 5MH3gO0 56 sMoL LmGmo

Question 3

d9go m»3eolb BobEGGIoL Bsbsfgdl dgodwgds HomBdmoygbwogl Gogbzo H2
Select one:

a. 5mMd0MO

b. m9dabdgEmBdomo

C. mOMBOMO

d. 635000000

e. s6EIHMO 36 6oL LfmGo

Question 4

390 03¢0l LobGgdol BsbsfgdL dgodergds FoMmdmowygbrogl Mogbgo 36

Select one or more:

a. SOMmd0mMO
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b. G3smdomo

C. mMHMIOMO

d. 0993LdgE™doMO

€. 539600 56O 5MmobL LfimeMo

Question 5

59960 2935050305 2 gM50503d0? (Bsfigmgo dbmemo Gosbgo)

Answer:

Question 6
390050935690 ®oibzo (1011100). m3wol memMmdomo bolEgdowsb M3smdomdo. Gmdgwos Limemo
3sbbo?

Select one:
a. 712
b. 152
c. 134
d. 231

Question 7
390050935690 Mogbgo (0,10111). 3ol m®mdomo bolEgdosd ®35md0mTo. HMIgwos Limeo
3sbbo?

Select one:
a. 0,28
b. 0,61
c. 0,24
d. 0,56

Question 8
3900504356900 Mogbgo (1011100). m3wol mOmMd0mo boliEgdosh m9d3bdy@mdomdo. HMIgEos
LHmemo 3sbmbo?

Select one:
a. A7
b. 5C
c. AB
d. D2
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Question 9
390050439690 Mogbgo (0,10111). mzwol mGmdomo bolEgdosb mgdaliog@Emdomdo. GMmageos
LHmOo 3sbmbo?

Select one:
a. 0,B2
b. 0,B8
c. 0,A5
d. 0,7A

Question 10
390050939690 ©0oEb30 (7B)1s 030l s00md00m LobEgdsdo (3sbvbo BsfgMgo dbmemeo Mogbgzo,
ROBbOgdOL s M3ol LoLEJIol FoMOMYdOL FoMgdy, dsgswoms®, 156)

Answer:

Question 11
39050939690 MoEbgo (43)s 030l smmdom LolEgdsdo. (3sbvbo BsfigMgo dbmermo Mogbgzo,
RMRbowgdoL s M3ol LolEgdol Jomomgdol AseMm9dg, sgsomso, 156)

Answer:

Question 12
HmIgeo gargdgb@GHos godmbisbyyemo bydmsmbg?

+Vee

Select one:

a. o-5Md
b. 96-565

C. ©d
d. 56



Question 13
3919150509 9OHMISBYNDL:

oo

Answer 1/ ©hoose- -

Via

Ch -
Answer 2| ~"°%%¢ -

+
A 2
"

x2 = Choose... ll

. Answer 3

Vs

Wy Vi

= i Ch -
Answer 4/ ~°°%¢ -]

Question 14
Hmdgaro 396¢0w0s godmbisbmo bydHombg?

A X

—>0—

Select one:
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a. s - 5o

b. s

C. 5b - oMo

d. 56

Question 15
HmIgaro bggds Hommoqbl ,,e-sM5" 39bGH0L?

A X A X A X A X
L - 2 ED 3. fbof 4 >0
B

Select one:

a. 3
b. 4
c.2
d. 1

Question 16

MH™J9geo 396@G0wol F99dsMo@EHmdol gbMowos Fodmoygbowo?

A

X

0

1

1

0]

Select one:

a. o
b. s-56

c. 5b

d. 56

Question 17

Hmdgaeo 3bMHowo dgglsdsdgds ,,005% 3gbEowls?

1

A

X

0

1

1

0
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Select one:
a. 1l
b. 4
c.3
d.2

Question 18

390mdm3go 356456900l | 05mds 059995390905 9e9dGOMbo sd39d0l
05H5bY.

Select one:
-

r

True

False

Question 19
(000 35dM0MBYIMOS 30M39WO M5MOOL 4odMINZWIo Fobdsbs?

Select one or more:
a. obsdgmmzg 3md30vEJMHJOMB F9sMmgd0m OO 9HIMYMIMbISMIO0m;
b. ds@oero bsodgEmmdoom.

C. 5653900MM39 3md309939MJOMD T9sM9d00m 0bBMMTo300L sT5TobLMZMGdgo gegdgbEgdol
QQOEO M5MEIbMdOM;

d. 056599006m39 30330493 9MJ0M6 FGIMIO0MN OO J5BM0EHIO0M;

Question 20
39991505990 9OHMTbgNL odMINZgero 35bJobol Momds - Fgbsdsdolo 9urgdgb@memo
d5bo:

IV oomdo Answer 1| Choose. . j
HT osmds Answer 2| Choose... j
Il oomdos Answer 3| Choose... j
I oomds Answer 4| Choose. . j
Question 21

MH™IGE0 WMP03MM0 45dmbEbYgds FggLsdsdgds LGombBg Foddmygbowr FqddsMo@mdols
3bO»OL?
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A B C M
0 0 0 0
0 0 1 0
0 1 0 0
0 1 1 1
1 0 0 0
1 0 1 1
1 1 0 1
1 1 1 1
Select one:
M = ABC + ABC+ ABC + ABC
a.

M = ABC + ABC+ ABC + ABC

M =ABC+ ABC+ ABC+ ABC
C.

M =ABC+ ABC+ ABC + ABC

Question 22
Bf9Mgo 3OmEgLmOOL sdM9g309¢ M (58m0ygbgo dbmErm© oo
063colbvyHo LOoFdMEMIdO):

Answer: |

Question 23
OmIgeo 3033mbgbE0s godmlisbmeo bLyyMsmbHg?

Select one:

a. 3obhglygmo

b. 8mdogo dgblogMgds

C. 36Hm39LMM0

d. 39653 0Mwwo dgbloghgds



Question 24
99995053900 9OMIBgNL:

!’ I Choose...
= Answer 1

Answer 2

I Choose...

Answer 3

I Choose...

Choose...
Answer 4| 0ose
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